ACT Practice







Name ______________________________

Geometry Unit 1 & 2

 




Hour ______
Date _______________
______  1.  If a circle has a circumference of 25.12 inches, what is the area?  Use 3.14 for π.

A. 4 
B. 8 
C. 12.56 
D. 50.24 
E. 200.96 
______  2.  Edging cost $2.32 per 12-inch stone and you want a double layer of edging around your flower bed that is 6 yards by 1 yard. How much will edging your flowerbed cost? 

A. $32.48 
B. $64.96 
C. $97.44 
D. $129.92 
E. $194.88 

______  3.  What will it cost to carpet a room with indoor/outdoor carpet if the room is 10 feet wide and 12 feet long? The carpet costs $12.51 per square yard. 

A. $166.80 
B. $175.90 
C. $184.30 
D. $189.90 
E. $192.20 

______  4.  If the perimeter of a rectangular house is 44 yards, and the length is 36 feet, what is the width of the house? 

A. 10 yards 
B. 18 yards 
C. 28 feet 
D. 32 feet 
E. 36 yards 

______  5.  If the area of a square flowerbed is 81 square feet, then how many yards is the perimeter of the flowerbed? 

A. 9 
B. 12
C. 18
D. 36
E. 40.5 

______  6.  What is the cost in dollars to steam clean a room W yards wide and L yards long it the steam cleaners charge 10 cents per square foot? 

A. 0.9WL 
B. 0.3WL 
C. 0.1WL 
D. 9WL 
E. 3WL 

______  7.  A rectangle with area 2592 square inches is twice as long as it is wide.  What is the perimeter of the rectangle, in feet?

A.  3
B.  9
C.  18
D.  36
E.  72
______  8.  In the figure below, 
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5. Lengths are shown in inches on the drawing of the rectangle below. What i the shaded area, in
square inches?

6. Square ABCD beloww has a perimeter of 28 inches. How many inches long i diagonal AC 2
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and BC = 10 units.  What is the area, in square inches, of ΔABC?
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A.  12.5

B.  25

C. 
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D.  50

E.  Cannot be determined from the given information

______  9.  What is the area of a rectangle with a length of 36 and diagonals of 39?

A.  108

B.  540

C.  702

D.  1404

E.  1621
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4. Tn the figure below, A5= T and BC is 10 units long. What is the area, in square inches, of
44BC?

K. Cannot be determined from the given information
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______  10.  In the figure below, determine the area of the shaded region of the figure. 
A. 9.354 
B. 10.52 
C. 16.437 
D. 49 
E. 104.86 

______  11.  If edging cost $2.32 per 12-inch stone, and you want a double layer of edging around your flower bed that is 6 yards by 1 yard. How much will edging you flower bed cost? 

A. $32.48 
B. $64.96 
C. $97.44 
D. $129.92 
E. $194.88 
______  12.  What will it cost to carpet a room with indoor/outdoor carpet if the room is 10 feet wide and 12 feet long? The carpet costs $12.51 per square yard. 

A. $166.80 
B. $175.90 
C. $184.30
D. $189.90 
E. $192.20
______  13.  Sally has three pieces of material. The first piece is 1 yd. 2 ft. 6 in. long, the second piece is 2 yd. 1 ft. 5 in long, and the third piece is 4 yd. 2ft. 8in long. How much material does Sally have? 

A. 7 yd. 1 ft. 8 in. 
B. 8 yd. 4 ft. 4 in. 
C. 8 yd. 11 in. 
D. 9 yd. 7 in. 
E. 10 yd. 

______  14.  If one inch equals 2.54 cm, how many centimeters tall is a 76- inch man? 

A. 20 cm 
B. 29.92 cm 
C. 193.04 cm 
D. 300.04 cm 
E. 593.04 cm 

_______ 15.  Lengths are shown in inches on the drawing of the rectangle below.  What is the shaded area, in square inches?

[image: image4.png]



A. 18 
B. 24
C. 57 
D. 78 
E. 96 

______  16.  The diameter of a wheel is 36 inches and each revolution of the wheel covers the distance of one circumference.  To the nearest number of revolutions, how many revolutions of the wheel must be completed before the bike covers 1000 feet?

A.  3

B.  9

C.  28

D.  106

E.  9420

______  17.  You have a round pool with circumference of 56.52 feet.  You want to buy a cover that costs $46 per square yard.  How much will the cover for your pool cost?

A.  254.34

B.  1299.96

C.  2599.92

D.  11699.64

E.  None of the above.

______  18.  The circles below are concentric.  If AC = 8 inches and BC = 2 inches, what is the ratio of the area of the larger circle to the area of the smaller circle.    


A.  4:3

B.  3:1

C.  9:1

D.  16:9

E.  None of the above.

______  19.  Three identical circles, each with an area of 36π square feet, are inscribed inside a rectangle as seen below.  Find the area of the rectangle in square yards.

A.  32
B.  48
C.  288
D.  432
E.  None of the above.
______  20.  Your dog is attached to a 12 foot leash that is attached to the edge of your home as seen below.  You want to cover the ground your dog can roam on with bark that costs $5.00 for a bag that will cover a square yard.  How much will you spend?

A.  $37.68
B.  $188.40
C.  $339.12
D.  $1695.60
E.  None of the above.
______  21.  In the picture below, the five squares are congruent and the four right triangles are congruent.  What is the probability that a randomly thrown dart that hits the target hits the white region?

A.  0.43
B.  0.50
C.  0.57
D.  0.61
E.  None of the above.
______  22.  The side length of a regular hexagon is 6 inches and the area is 93.6 square inches.  Find the length of the apothem.

A.  4.8
B.  5.2
C.  10.4
D.  15.6
E.  None of the above.
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